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SA BB O () - MM - HES 0l &+ o4 il
-XI X 12,0002 128 144
OsM2d 2238 7Y 300,000& 123 3,600
OSEUALSI 2L2E 4,500
-El 250,000 *2CH 63 3,000
23 2 ZEEX 350,000 *2CH 23] 1,400
- HMalS 50,000& »2CH 100
ST T VPNRES (EPS
300, 000& *2CH 4= J| 2,400
02 8323l 39,170 38,504
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OLgAE B2 165,000& = 12& 1,980
O&IItH A =2 210,000& 210
OsdIl SFNESZ 180,000& 123 2,160
OLIXNEESs AERS 14,500& 128 174
ORERS 700,000& =122 8,400
O=2¢3 #& 200,000 200
O&IIR3 800,000& x12& 9,600
OZANARZ 300,000& »12& 3,600
Oust=ER=a 250,000& *63] 1,500
OCunsge=Rga 300,000& 300
OosgdME=E =3 60,0003 *23| 120
OXg |l 6,000
-~g3=2 400,000& =122 4,800
A PIbN 100,000& 123 1,200
OXtS XA 160
-2~ 835t=E 30,000& 30
S PIPN 130,000& 130
ONsSXHEEZ 1,700
-2~ 8352 800,000& 800
A PIbN 900, 000& 900
OHlad LEAMNER 5,500&«12& 66
202 04 HI 43,680 43,680
01 ZLH0i bl 43,680 43,680
OJlz2ge =& &0
20,0003 *13H +143|x12& 43,680
203 H R =&l 10,120 10,120
01 J|22F P2 =8| 6,600 6,600
os% 6,600,000& 6,600
02 A HRFXH| 520 520
OFJItet R =&l 40,0003 x13H 520
04 EAN2I LRI 3,000 3,000
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O=A J2ge &8 =40
,000& »15H 541 %123 7,200
ORAHIAAE 22| 154,000& 128 1,848
Oes% 100,000& »604 600
O&=J| &l 55,0003 «3CH 128 1,980
OZJ18 &7 2¢l 18,900 »2CH«12& 454
Osggagsll 29 5,310
-El4 220,000 *3CH 63 3,960
-23 2 ZgsX 400,000& +3CH 1,200
-HA 3 50,000 *3CH 150
o=z 468
=2 15,0003 x 12+ 12& 180
NN 12,000& »22 122 288
HH =S AL 2el 250,000 *43| 1,000
OsegsdLEANAE RXE+ 600,000 43 2,400
ozg=l o|d &X 250,000 *3H 750
OAtR 4 HMa ZHIIHIS & 0l&|
3,060,000& 3,060
02 =224l 49,408 49,342
Os=0HH AR 1,500, 000& 1,500
OdEEHl 22l 350,000 *43| 1,400
Osxd |1 4,200
-2~ 852 250,000& = 12& 3,000
aPIbN 100,000& »12& 1,200
Os=ody S22yl 1,500,000& »12& 18,000
OXIRS 900,000& x12& 10,800
Oudt=ER= 300,000& *63| 1,800
ORERS 750,000& x12& 9,000
OCLsSREFES 400,000& 400
OgZdieaegaza 60,0003 »23| 120
ONsXHEEZ 1,800
-2~ 8352 900,000 900
aPIbN 900, 000& 900
OXtS XHAl 160
-2~83 =2 30,000& 30
aPIbN; 130,000& 130
OCATVAIZE 2 13,5002 128 162
QIRA HlAY 5,500 128 66
202 4 HI 50,400 50,400
01 = LHAO YI 50,400 50,400
OJlegse =¥
20,0003 «15% «143|x128 50,400
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401 AIEHI L 2 CHYI 109,100 109,100

01 AlZHI 109,100 109,100
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OMOtE &2 A2 22EE SA

11,100,000& 11,100

405 At&tE =H| 17,560 16,060
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OAMR Y THixl 28 7 7,685
oIl AE 250,000 250
-dEga A5 HOlS 190,000 190
-2E AL 85,000& =104 850
-2l o %t 55,000 *5H 275
-QI ol AT 470,000 *4 K 1,880
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-Ia ItEld 3,240,000& 3,240
OMOtE &2 A2 SFHd =235 7L 9,475
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-4 I 470,000 *2H 940
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S s
HE: Y2 YPY (HH4E)

S D2 (H4s) (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
-2Z2 X 150,000& *33] 450
N AT 50,000& *33] 150
OsFUHEH2ZE JI2+2H|
50,0003 *11H =12 6,600
OFA JI2g: =8 244l
8,000& x 11 54! x12& 5,280
OSEsgELUSANAY SIS
300,000& x4 2 J| 1,200
02 3524l 19,923 19,057 866
OSFUHH AESA 1,500,000& 1,500
OodIIe=2 500,000& x12& 6,000
Odtelte 22 150,000& *6 3] 900
oRERI 300,000& x12& 3,600
OFNINAHAA =22 100, 000& 100
OIFMe =2 60,000& *23] 120
ONSXHEEE 2,200
-AESI2 1,200,000 = 1CH 1,200
&I X+ 1,000,000& = 1CH 1,000
OX s RHA 160
-4~ 832 30,0002 =1CH 30
-&J| Xk 130,000& = 1CH 130
O&dSE HFAH| 345,000& 345
OCATV AtE 2 11,000& 128 132
Odlatg [ AtE2s 5,500& x12& 66
Od#dE&EH KX 300,000& 43| 1,200
O xt&= Xl gl 3,600
-~ Y3 = 200,000& x12& 2,400
-&J| Xk 100,000& = 12& 1,200
202 04| 36,960 36,960 0
01 2LHOHI 36,960 36,960 0
OJI=2ge =8 &0
20,0003 * 114 %143/ x12& 36,960
203 Y2 E X Y| 10,040 10,040 0
01 J|22I PR =AY 6,600 6,600 0
Oos & 6,600,000 6,600
02 §A AL RF=EH| 440 440 0
OFAII L2 EFY| 40,0008 * 1% 440
04 ENSIHRF=AY| 3,000 3,000 0
ONM2gd gRF=&H| 250,000& x12& 3,000
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2H: HHHss
M HHE2IAH (HH5S)
el JI=23HI(HHe5S)

SA - ZE-B(EA) - NRAY - B S il &t o il
-4 250,000 *43| 1,000
-#23 150, 000& 23| 300
-Z2gEX 250,000& 250
A3 50,000& 50
OSEUIALZIIANAE RXE 2|
300,000& x4=2 | 1,200
OtER=ER 324
S 15,000& =122 180
-X Xl 12,000& =128 144
OsFUHdH2ZE JI2=+34l
50,0003 x 118 «12& 6,600
ORM Il 48 A
8,000& *11H 54« 128 5,280
02 =224l 20,382 20,316
OsxF0dH AdR 125,000& 128 1,500
Osxg RAl2d 3,600
-~83=2 200,000 1228 2,400
-& I Xt 100,000& =128 1,200
OHEEH S 2L 300,000& *43| 1,200
O&IIR3 550,000& =122 6,600
O4dt+=E 23 100, 000& *63l 600
OdMERE=S 60,000& »23| 120
O&EJItE A== 100,000& 100
ONsxHEEZ 1,850
-2 852 950,000& 950
-& I Xt 900,000 900
OXtS XHAl 160
-Ag3 =2 30,000& 30
-& I Xt 130,000& 130
OF3x Hatl 94,000& 94
O=293 Fat| 80,000& 80
OCATV AtB & 17,6002 =128 212
FERS 350,000 122 4,200
OQI3A H&Y REAESZ 5,500& «12& 66
202 o4dl 36,960 36,960
01 = LH o4 1l 36,960 36,960
OJl2ge =& =0l
20,0003 *11H +143|x 128 36,960
203 YR =&l 10,040 10,040
01 J22I PR =8I 6,600 6,600
os% 6,600,000 6,600
02 BRSPS E Y] 440 440
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01 AL ESFH S 12,500 1,000 11,500
Ode&3Dl 1,000, 0002 = 1CH 1,000
O=zloa A & 2AX 11,500
-3 o ZE Xt 200,000& 204 4,000
e LU ESRCIDN; 150,000& *50 4 7,500
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OdIIe=2 700,000& 12& 8,400
OLPG(HLEID] AIE) 282 500,000& x12& 6,000
Oddte =2 250,000& *63| 1,500
o2 350,000& x12& 4,200
o=t =g2 100, 000& *23| 200
Qusgyrdgz 300,000 300
Oxs A2 4,200
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-5 |AEx= 200,000& x12& 2,400
O=283 34 200,000& 200
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SN 8518
H: HM2AAH (2E51S)
@2 JI2dH(8318) (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
M Molg 50,000& =5CH 250
OSFUIAA 2HLZH| 330,000& 128 3,960
OSESHLZAAE SAESH|
996,000& 4= | 3,984
oulegxs= 468
-= 2K 15,0003 x12& 180
NEEN 12,0003 x2E5 + 128 288
OSHI=NHME2Y I =2+8Y|
50,000& x17¥ x12& 10,200
ORAM JiZee +8 A
8,000 x17H x5A! x 128 8,160
OsSHESAHEH 89 A=H| 80,000& 53] 400
02 352494l 43,160 43,528 A 368
OHA=2XNHEH AERX 3,000
-S#HAH S X HE 150,000& *12& 1,800
- E0IAA 100,000& =128 1,200
O A &H| el 350,000& 43| 1,400
OX3HI| 22| 770
-SHAH S X HH 22,0002 x 114 242
- E0IAA 22,000& *24 4 528
Oxtg KXYl 4,200
-4~ 83 = 250,000& «12& 3,000
-& I X 100,000& ~12& 1,200
odIIe=2 600,000& ~12& 7,200
OHsl+E 22 150, 000& ~6& 900
O0lsd3 MEEZ 37,000& *1CH+x12& 444
O HaY X RLEAISE
5,500 20 12& 132
oREe= 800,000& 128 9,600
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L= B
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K- B S (3H) - MBAY - B 0 4t 04 il
ovlexs= 468
-S4 15,0003 x 15 +12& 180
-Xl & X 12,0003 x2E5 + 128 288
OSBEZYTALY SN2+
500,000& *4 2 J| 2,000
OsFUHMHESYE JI2+3H|
50,000& *12H = 12& 7,200
OfM IS8R =8 ZAH|
8,000& x 12 54! x12& 5,760
02 533294l 20,559 20,493
Os+=UHE Al&H| 125,000& x12& 1,500
O#HHEHl 2l 300,000& 43| 1,200
Osxe S 3,600
-A Y32 200,000& x12& 2,400
&I X+ 100,000& *12& 1,200
OdIIe=2 480,000 x12& 5,760
Oatete==22 80,000& x6& 480
oRE2 450,000 x12& 5,400
oI red=2 60,000& 23] 120
OFINAHNMBA =2 100, 000& 100
OXNSXHEE = 1,800
-4~ 83 = 900,000& 900
& J| Xk 900,000& 900
OXs Al 160
-~ E3= 30,000& 30
&I X+ 130,000& 130
OdSx EA 42,000 42
=e3 F A 80,000 80
OCATV AtEE 20,900& =128 251
OoI& Al H| At L= 5,500& x12& 66
202 04| 40,320 40,320
01 2LHOHI 40,320 40,320
OJI=ge =d 2& 0l
20,000& *12Y %145 x12& 40,320
203 ¥R =&XH| 10,080 10,080
01 J|22I P RF=XY| 6,600 6,600
os% 6,600,000 6,600
02 HJAJPAHFFAH| 480 480
OFAIA HRF=XH| 40,000& x12H 480
04 ENSHELRE=XH| 3,000 3,000
ORNM2g gRF=&H| 250,000& x12& 3,000
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L0002 ¥ 128 *5A! + 122 5,760

02 =29 23,619 21,819 1,800
OSHZ=NME ALK 125,0008 * 122 1,500
O#FHEH 2R 300,000 *43] 1,200
omIe 9,600,000 9,600
OMBlaER2 900,000 900
OQIEIY L CATV AIB 2 489,000 489
OHLEMAL Mol2E 23 120,000& 120
OHR2 3,960,000 3,960
osAMeRSS 90,000&! 90
OFIAFHA 242 100,000 100
OXNESHEEE 1,900
== 1,000,0002! 1,000
~& | % 900,000&! 900
OX= XAl 160
-Ar8ale 30,0008 30
~& | % 130,000 130
O A 22l 3,600
-A8sle 200,0002! * 128 2,400
~& | 7 100,0008! * 122 1,200

202 014 40,320 36,960 3,360

01 20l bl 40,320 36,960 3,360

OJl=gde =8 X0
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O JZ2YgAL =Yl 6,600 6,600 0
os = 6,600,000 6.600

02 MY R =T Y| 480 440 40
OFRAINM A2 EFY| 40,0002 *12& 480

04 2A2YAL =Y 3,000 3,000 0
ORM2YAREAY 250,0002! * 128 3,000

405 Xt &HE S b 4,000 0 4,000

01 Hat L 223 S| 4,000 0 4,000
O cHaial wrs)) 4,000,0002! *1CH 4,000
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2N 2548
PSP ¥egaddl(es4s)
Sl D2 (854S SHol R )
K- B8 S2(3H) - HSAY - B2 o A o SSa H RS2
OSetsdLSANAE SXNE 2
80,000& x12& 960
OsSFUHEH2YE JI2+2H|
50,000 *9H x12& 5,400
onlexxs= 468
-S4 15,0003 x 12 *123] 180
P NEEN 12,000 x22 *123] 288
ORAM JI2ee +8 A
8,000 x9H x5A x 128 4,320
02 533294l 16,316 16,234 82
Osx=UAEH AIERX 1,454,000& 1,454
Od#HA™ &Y 2elS Al 200,000& =63l 1,200
OdIIe= 400,000& *12& 4,800
Oadte=22 100,000& *63] 600
ORXlst4EAA 22| 200,000& *13] 200
OHlag REAIEZ 5,500& x12& 66
o2 180,000& = 12& 2,160
OFINANMBA =2 100,000& x13] 100
OsSx e 3,600
-4~ 832 200,000& x12& 2,400
-&J| Xk 100,000& = 12& 1,200
OXs A 160
-~ E3I= 30,000& *13] 30
&I X+ 130, 000& *13] 130
ONSXHEEE 1,690
-4~ 8ol = 790,000& *x13] 790
-& I X 900,000& *13] 900
O3 rd=2 60,000& 23] 120
O3 FAH| 60,000& *13] 60
OCATV AtE 2 8,800& x12& 106
202 04| 30,240 26,880 3,360
01 2LHOHI 30,240 26,880 3,360
OJI=ge =d 2& 0l
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01 J|22I P RF=XY| 6,600 6,600 0
os% 6,600,000 6,600
02 MRt R =AY 360 320 40
OFAIA HRF=XH| 40,000& x9H 360
04 ENSI IR =AY 2,100 2,100 0
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405 XtabF S| 7,000 22,000 A 15,000
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